WUHLERMANN

CETTE

8
INDEPARTS

International Delivery Parts

Pol. Ind. Campollano Pol. Ind. Malpica-Alfindén Pol. Ind. Fuente de los Arrieros
C/F,n®°29,nave?. C/ Almendro, naves 10-12 Parcela 5

02007 Albacete - Albacete 50171 La Puebla de Alfindén - Zaragoza 16260 Minglanilla - Cuenca CATA LOG O

Tfno. (+34) 967 192 918 Tfno. (+34) 976 455 419 Tfno. (+34) 976 455 419 FUELLES DE SUSPENS| O N

indeparts@indeparts.com indeparts@indeparts.com indeparts@indeparts.com
www.indeparts.com www.indeparts.com www.indeparts.com

8
INDEPARTS

International Delivery Parts

www.indeparts.com



-

CATALOGO ,
FUELLES DE SUSPENSION

INDEPARTS

BUREAU VERITAS

(]

Certification

Certificate of Approval
Awarded to
FABIO HAVA SUSPANSIYON SISTEMLERI VE YEDEK PARCALARI SAN. TIC. LTD. STI.

NOSAB Dokiimciiler Sitesi 104. Sokak No:28 NILUFER
16140-BURSA-Turkey-

Bureau Veritas Certification certify that the Quality Management System of the above organisation
has been audited and found to be in accordance with the requirements of

ISO/TS 16949:2009 - Third edition

and the applicable customer specific requirements

(=%

SCOPE
Manufacturing

PERMITTED EXCLUSION(S)
7.3 - Product design responsibility

PRODUCT(S) DELIVERED
Air Springs
« 6 December 2013

« 5 December 2016
AT G N 113742 R Vs Coriion Corsfise N TUR-12010TS

( EE&T/
CERTIFICATE

The TUV CERT Certification Body
of RWTUV Anlagentechnik GmbH

hereby certifies in accordance with TUV CERT
procedure that

OTOKAM OTOMOTIV DIS TICARET LTD. STI.
Istanbul, Turkey

has established and applies a quality system for

Purchasing, sales and marketfing of original commercial
vehicle spare parts

An audit was performed, Report No. ~ 2.5-0555/2002
Proof has been furnished that the requirements according to
18O 9001 : 2008 / EN ISO 9001 : 2008
are fulfilled. The certificate is valid until  March 2016
Certificate Registration No. 04100 20515

Essen, 22.03.2012

RT Certification Body
Anlagentechnik GmbH

o
CERTIFICATE

The TUV CERT Certification Body
of RWTUV Anlagentechnik GmbH

hereby certifies in accordance with TUV CERT
procedure that

OTOKAM OTOMOTIV DIS TICARET LTD. STI.
Istanbul, Turkey

has established and applies a quality system for

Purchasing, sales and marketing of original commercial
vehicle spare parts

An audit was performed, Report No. ~ 2.5-0554/2002
Proof has been furnished that the requirements according to
1S0 9001 : 2000/ EN 1SO 9001 : 2000
are fulfilled. The certificate is valid until ~March 2016
Certificate Registration No. 04100 20514

Essen, 22.03.2015
TUV QERT Certification Body
of RWTOV Anlagentechnik GmbH

( EIEBT/
CERTIFICATE

The TUV CERT Certification Body
of RWTUV Anlagentechnik GmbH

hereby certifies in accordance with TUV CERT
procedure that

OTOKAM OTOMOTIV DIS TICARET LTD. STI.
Istanbul, Turkey

has established and applies a quality system for

Purchasing, sales and marketing of original commercial
vehicle spare parts

An audit was performed, Report No. ~ 2.5-1555/5002
Proof has been furnished that the requirements according to
ISO/TS 16949:2009
are fulfilled. The certificate is valid until March 2016
Certificate Registration No. 14105 10515

Essen, 22.03.2012

RT Certification Body
Anlagentechnik GmbH




CATASED crension INDICE / INDEX

SCANIA FUELLES DE SUSPENSION
IVECO FUELLES DE SUSPENSION
MAN FUELLES DE SUSPENSION
\V/e]AY/[e FUELLES DE SUSPENSION
DAF FUELLES DE SUSPENSION
RENAULT FUELLES DE SUSPENSION
MERCEDES  rueLiesbe suspension
212" FUELLES DE SUSPENSION
LECINENA  FUELLES DE SUSPENSION

SAF FUELES DE SUSPENSION

o\

SCHM |TZ FUELLES DE SUSPENSION

ROR/MERITOR  FUELLES DE SUSPENSION

FRUEHAUF FuUeLLES DE susPENSION

HENDRICKSON FUELLES DE SUSPENSION

O

TORPRESS FUELLES DE SUSPENSION

CRUCE DE REFERENCIAS / CROSS REFERENCE LIST 10-11-12

Tanto las referencias originales como las fotografias son Unicamente para identificar el producto. En ocasiones podrfa no coincidir.

Poligono Industrial Malpica-Alfindén, naves 10-12. 50171 - La Puebla de Alfindén - Zaragoza



FUELLES DE SUSPENSION

AIR SPRING

¥» 7840303C SCANIA T3 7840307C SCANIA

Referencia O.E. ) Referencia O.E.

‘ i
1440303 A 1440307 R
1475106 g 475149 , Hats
1521114 / \ ! 1R11-845 } a
488263 . 8 1DF 23B-2 Q
1DF 20D-1 % S/ T
- \. E b
"l ~——T oirs 1 i |

21,9

3

140
3
2200

7> 7849132C SCANIA ¥» 783608C SCANIA

Referencia O.E. Referencia O.E. e

4913NP02 ﬁ%ﬁ 2230 6700NPO2 /\
1510195 — ; s |
1543691 relR ; V=
1T19E-93 | | k i e /
1R14-753 - ) ; ! . ow

il D) 28 ==l \ \\\ 3 }

“f \ | i 215 E ms
Miexts 21012 M16 d )

®

DESCRIPCION:  Fuelle de suspensién
3 7827023C IVECO 7> 78270232C IVECO

Referencia O.E. 5 Referencia O.E.

:
WO01M588660 WO01M588662

@227

i
i

50
159.5

DESCRIPCION:  Fuelle de suspensién
7> 78270231C IVECO T» 78270233C IVECO

Referencia O.E.

WO01M588661

Referencia O.E.

WO01M588747 TEToT ]




FUELLES DE SUSPENSION

AIR SPRING

~ -
"» 78673 "» 78944
Referencia O.E. oy Referencia O.E.
673N 01308 944N P
0627584 0627584 f§ﬁ~
4714025 6657150
ABBBIB 20 00 O} 8188526
A6213280001 52.82.20
66 1999893
1528520 g 88168 E
1R1A 370-285 AS2MO23C
1LIF 2L /2 1R1B 390-270
E2426

DESCRIPCION:

o/ 78644 IVECO ® 78661 IVECO
Referencia O.E. Referencia O.E.
644N 661N
0220024400 4746733
1822713 93197594
4.771.170.000 o197 90831120144
4.771.441.000 4771427000 51
536905265 4771440000
81.43601.0017 5001829866
4.771.143.000 1137888
4.771.170.000 3159253
1199893 >
1622111 B -
15285-24
1R1A 390-295

a2l

DESCRIPCION:

Fuelle de suspension

Fuelle de suspension

DESCRIPCION:

Fuelle de suspension

DESCRIPCION:  Fuelle de suspensién

Referencia O.E. Referencia O.E. 2216
0220024600 - - 04456111
578361 ( 4763473
15628 81.43601.0115
41822247 81.43601.0117
81.43601.0018 A3633280001
81.43601.0051 5000819517 g
2680662000 1SC 310-16/93518
1SC360-30 PNP 304890101
ARAID 3553155 1RALC S5-3I0
1EER N— 8015
1F25 \::L
DESCRIPCION:  Fuelle de suspensién DESCRIPCION:  Fuelle de suspensién

WUHLERMANN

Tanto las referencias originales como las fotografias son Unicamente para identificar el producto. En ocasiones podrfa no coincidir.

50171 - La Puebla de Alfindén - Zaragoza



FUELLES DE SUSPENSION

AIR SPRING

T» 7848825¢C T» 784886C

Referencia O.E. Referencia O.E.

4882N1P05 4885N1P01
81436016036

115260-32

I — 176 81.43601.0060
| 1 81.43601.6071
|
i . ‘ ‘
2xM16x1,5 ‘

M12x1,5

130

DESCRIPCION:  Fuelle de suspensién DESCRIPCION:  Fuelle de suspensién

¥» 786602C VOLVO » 786418C VOLVO

M18x2

Referencia O.E. Referencia O.E.
6602NPO1 o189 6607NPO1
21097453 127 1076418 2168
70313734 20374511
70397453 20456156
20581987 | 1 | J|le—i-—
20582214
( 10821695 / {
2xM10 M24x1,5 T M14

M16x1,5

; 1 “ }
i
¥» 786762C VOLVO 7> 7866032C VOLVO

Referencia O.E. Referencia O.E.
6613NPO1 6603NPO2
20452144 20673311
20479802
20554762

110

¥» 787803C VOLVO T» 784420C VOLVO

Referencia O.E. Referencia O.E.
6605NPO1 4420NPO1
1076415 -9 2 1076075 o
20375226 1076076 \ i
20375227 20554756 7N i
20427800 1T17BR-8 Flo L-]a ®
20427803 :]; W01 M58 9707 ) / !
20456150 ik s i
M24x1,5 S 924 ]
M16x1,5

DESCRIPCION:  Fuelle de suspensién DESCRIPCION:  Fuelle de suspensién

Tanto las referencias originales como las fotografias son Unicamente para identificar el producto. En ocasiones podrfa no coincidir.

naves 10-12. 50171 - La Puebla de Alfindén - Zaragoza



FUELLES DE SUSPENSION

AIR SPRING

> 786416C

Referencia O.E. “

6608NPO1
1076416
20374510
20456152
20531985
20582215
70321693

47._80 _|

1
T
M24x1,5

M16x1,5 M14

DESCRIPCION:  Fuelle de suspension

#» 788362C DAF

Y 4

Referencia O.E.

836MK2

45 28

135 |

2xM16x1,5 3xm10

145

m16

DESCRIPCION:  Fuelle de suspension

» 789910C RENAULT

Referencia O.E.

WO01M589910
5.000.815.749
902MB
e G=12

DESCRIPCION:  Fuelle de suspension

> 78491213C RENAULT

Referencia O.E.

4912NP13
5.010.600.328 gos
20726768

i
|
i
&
|
i
i

M16x1,5

|

4

Referencia O.E.

6609NPO1
1075365
1629782

20452138

20554761

DESCRIPCION:  Fuelle de suspension

» 788361C DAF
Referencia O.E.

836MK1 . e

1153934 ] e

1697678

dLIDIF Zswilil

ST

] WExLS 3xM10 m16

DESCRIPCION:  Fuelle de suspension

¥ 788071CPL RENAULT

Referencia O.E.

4154NP05
5010239252
5010488071

MI2X1.25

DESCRIPCION:  Fuelle de suspension

> 7849125C RENAULT

Referencia O.E.

4912NPO7
5.010.294.30/B
5.010.294.307C
1T19E-4
1T191-14
1DK28F-4

%~ Mioxt.s M16x1,5

DESCRIPCION:  Fuelle de suspensién




FUELLES DE SUSPENSION

AIR SPRING

¥» 78475790C MERCEDES

Referencia O.E.
| ‘
i
i
i
| |

4757NP29
I
I
|
|

A9423203221
1R77-460-305-B

M24x1,5
M16x1,5 M16x1,5

> 7848381C MERCEDES

Referencia O.E.

4838NPO1
A9463200421
A9463283821

M16x1,5

7> 78418324C MERCEDES

Referencia O.E.

4183NP24
A9423206821
A9423206821

M16x1,5

> 7843902C MERCEDES

Referencia O.E.
. M16x1,5 !
! |
1 A
” | Y
]
R i
M24x1,5 ;

4390NPO2
M16x1,5

A9423200221
DESCRIPCION:  Fuelle de suspensién

M16x1,5

¥» 78475810C MERCEDES

Referencia O.E.

4758NP21
A9423204421

DESCRIPCION:

M24x1,5
M16x1,5

Fuelle de suspension

'
®
Referencia O.E.

873N
A6743280101

DESCRIPCION:

F
_

MERCEDES

Fuelle de suspension

¥ 7843901C MERCEDES

Referencia O.E.

4390NPO1
A9423200121
D12 T10
W01 M58 8514
1R77-440-290
9505
N2

DESCRIPCION:

M24x1,5
M16x1,5

Fuelle de suspension

2200

M16x1,5

T 7847571C MERCEDES

Referencia O.E.

4757NP0O1
A9423270001
1VSC300-26
4757 N1

M24x1,5
M16x1,5

M16x1,5

DESCRIPCION:  Fuelle de suspensién

Tanto las referencias originales como las fotografias son Unicamente para identificar el producto. En ocasiones podrfa no coincidir.

ial Malpica-Alfindén, naves 10-12. 50171 - La Puebla de Alfindén - Zaragoza



FUELLES DE SUSPENSION

AIR SPRING

7> 7841832C MERCEDES

Referencia O.E.

4183NP21
2250

M16x1,5

DESCRIPCION:  Fuelle de suspension

> 78s881CPL BPW
Referencia O.E.

881MB -
1TC360-45 R Tt
1T661)-10.8 )

1R14-708 %

1 DK 32 T~

m22x1,5 e

Referencia O.E.

941MB
1TC300-36
1TC300-30
940MB
(L[DIAL
1DK21K

» 787252C LECINENA

Referencia O.E.

725NP0O1
246149/3653
D14U38
1R14-704
1DF 32

B —

m22x1.5 2aM12

DESCRIPCION:  Fuelle de suspensién

T 7847371C MERCEDES

Referencia O.E.

4737NPO1

M24x1,5
M16x1,5

DESCRIPCION:  Fuelle de suspension

7> 78940CPL

Referencia O.E.

940MB
1TC300-36
1TC300-30
941MB
DK
1DK21K

2xM12

DESCRIPCION:  Fuelle de suspension

> 784881CPL

Referencia O.E.

4881MB

N

i
i
z 28
©6s g
) =

T
i
(I S
i 12xM16

DESCRIPCION:  Fuelle de suspension

¥» 787255C LECINENA

Referencia O.E.

725NP02
166217/3653
16217
1 TCS 360-45/202/964
D14B40
1T66F-10.8
WO1 M58 8969
1R14-747
1 DF 32

DESCRIPCION:  Fuelle de suspensién

Tanto las referencias originales como las fotografias son Unicamente para identificar el producto. En ocasiones podrfa no coincidir.

ial Malpica-Alfindén, naves 10-12. 50171 - La Puebla de Alfindén - Zaragoza



FUELLES DE SUSPENSION

AIR SPRING

Referencia O.E.

73 7840233CPL

Referencia O.E.

4008NPO1 4023NP0O3
212.21.349 oaas 3229.2431.00
3.229.0024.00 i 1T19E-2
UJB0305 . 1R14-729
1T19E3 1D 28B-10
1R13-734 §
1D 28C-12 g
15;!

4xm12

DESCRIPCION:  Fuelle de suspension

£ 78a105C £ 7ssioc SAF

DESCRIPCION:  Fuelle de suspension

Referencia O.E.

Referencia O.E.

4810NPO5 810MB
3.229.0027.00 1384273
ATrIE=AL 81436010042
1R14-730 212.08.327
1D 28A-10 212.15.632
2.229.2102.00
2.229.2102.00
2.229.2102.00
1080707
US874131
1D 28A-2

DESCRIPCION:  Fuelle de suspension

L > 788186CPL SCHMITZ

#» 788131C SAF

Referencia O.E.

Referencia O.E.

813MB
388491 WO01M588186
785170 US06316 150 a
2.229.0008.00 4157NPO6 T !
5000790692 D11837 |
5010130925 1T15MPW7 :
2.229.2603.00 1R11-764 i
3228000300 el 1 DK 21 A |
1195(;7EO27 Mzm,sﬂ27 2135
1R14-705
1D 28B-2

DESCRIPCION:  Fuelle de suspension

» 786251C SCHMITZ

T3 7840282CPL SCHMITZ

Referencia O.E.

Referencia O.E.

WO1M586251 4028NP02
1T15AA3 o221 15323
M16x1,5
Us04028P
33189
1R14-782

_ 2xM10x1,5 Nl

157,5

DESCRIPCION:  Fuelle de suspensién DESCRIPCION:  Fuelle de suspensién

Tanto las referencias originales como las fotografias son Unicamente para identificar el producto. En ocasiones podrfa no coincidir.

naves 10-12. 50171 - La Puebla de Alfindén - Zaragoza



FUELLES DE SUSPENSION

AIR SPRING

Referencia O.E.

4022NP0O3
3.229.2229.00
3.229.2429.00
1T300-37
D22 [ER)

Referencia O.E.

4157NP0O9
212.22.442
USs07074F
1T300-38
1DK21A-31

M12x1,5

DESCRIPCION:  Fuelle de suspension

7> 786318CPL

Referencia O.E.

WO01M586318

016512
US06318F
1T15 MPW-9

DESCRIPCION:  Fuelle de suspensién

3 7040225CPL

Referencia O.E.

4022NP05

M2

DESCRIPCION:  Fuelle de suspensién

2XM12

— 240

mi6

Referencia O.E.

4004NPO3
3.229.0007.01
3.229.0007.02
11300-37
1L IDICO22|EE)

Referencia O.E.

FD12017
126
FID) 4E20-117
2B8-2152
SR2ABO7ARED

DESCRIPCION:  Fuelle de suspensién

73> 7841595C

Referencia O.E.

4159NPO7
UJB0203-001 _ mm
2227
1T323-40 515
4159NPO5 TN ’
1DK21B-6 i g
i
1

M20x1,5 M
M12x1,5

Referencia O.E.

4159NP14
1T15M-9
WO01M587548
{RAI27C @RIS
1DK21B-4
D12B0O1

2xM12

2221
157,5

! f
i | \ / | \
| |

M20x1,5
M12x1,5

M12 - M20x1,5 M12
M12x1,5

DESCRIPCION:  Fuelle de suspensién

Tanto las referencias originales como las fotografias son Unicamente para identificar el producto. En ocasiones podrfa no coincidir.

o Industrial

pica-Alfindén, naves 10-12. 50171 - La Puebla de Alfindén - Zaragoza



FUELLES DE SUSPENSION

AIR SPRING

T3 7841566CPL FRUEHAUF
Referencia O.E.
4156NP06
212.15.761 I gz
17323-32 e
4156N P15 g
1DK 23 K-28 i, S )
) Y /
L asmeune N A ST
k> do0 1/2"13UNC

DESCRIPCION:  Fuelle de suspension

o WAL YIaJ HENDRICKSON

Referencia O.E.

4156NP14
B2066 -
21208939 T
1 DK 23K-9082 | |
Lo
3/4-16UNF . 1/2-13UNC

4x112-13UNC

1/4-18NPT

DESCRIPCION:  Fuelle de suspension

3 2RrC2204C TORPRESS

Referencia O.E.

WO01M586887 0215 mm

DESCRIPCION:  Fuelle de suspension

¥» 2Rc22020cC TORPRESS

Referencia O.E.

WO1M587756

M24x1,5
! M1éx1.5

DESCRIPCION:  Fuelle de suspensién

T3 7841563CPL FRUEHAUF

Referencia O.E.

4156NP0O9
4156 N PO1 - o —
14 ©
M2 M20x15  M12 M20x1,5
M2x15 MI2x15

> 78113150C EEIENleXTe]N

Referencia O.E.

W01M588747
HS251087/F
A9463280401
2500915
D13B42
1T17B-11 J .
1R13-150 J L M20X2,5 ' o1
1 DK 25-8747 L e d M14x1,5 7875 4xM12

» 2RC2253C TORPRESS

Referencia O.E.

WO1M587679
02.200.20.80.0
2B9-269
SP2B12RA-10
20T
VSP2B12RA-10

0260
0259 -0

220
144

G1/4

A

Smm T

DESCRIPCION:  Fuelle de suspension

¥» 2RC2201C TORPRESS

Referencia O.E.

WO01M587894 ol
509208
1319761
1387289
FD200-191/4P04
20F
2B9-287
SR2BAZIRES

DESCRIPCION:  Fuelle de suspensién

Yl

ssmm M10-6H

\_
s9mm

M10-HE

Tanto las referencias originales como las fotografias son Unicamente para identificar el producto. En ocasiones podrfa no coincidir.

ial Malpica-Alfindén, naves 10-12. 50171 - La Puebla de Alfindén - Zaragoza



REFERENCIAS OEM

SCANIA voLvo MERCEDES CF GOMMA

475149 |[Pag1l 3159253 |Pag2 4731033000 |Pag7 1TI9E-1  [Pag7
488263 |[Pag1l 20374510 |Pag4 4.771.143.000 __ |Pag2 1TI9E-2 _ |Pag7
523229 [Pag2 20374511 |Pag3 4.771.170.000 __ [Pag2 1TI9E2  |Pag7
1319761 [Pag9 20375226 [Pag3 4771427000 |pag2 1T19E3  [pag7
1387289 |Pag9 20375227 [Pag3 4771440000 |Pag2 1T19-93 |Pag1l
1440303 [Pag1l 20427800 [Pag3 A3633280001  |Pag2 1730037 [Pag8
1440307 |[pag1l 20427803 [Pag3 A383.327.00.01  |Pag2 1730038 [Pag6
1475106 |Pag1l 20452138 |Pag4 A6213280001  |Pag2 1732332 [Pag9
1510195 [pag1l 20452144 [Pag3 A6743280101  |Pag5 1732340 [Pagé6
1521114 |Pag1l 20456150 [Pag3 A9423200121 _ |Pag5 1VSC300-26 |[Pag5
1543691 |Pag1l 20456152 [Pag4 A9423200221  |Pag5 126 Pag8
1726240 |[pag1l 20456156 |Pag3 A9423203221  |Pag5
20479802 [Pag3 A9423204421  |Pag5
20531985 [Pag4 A9423270001  |Pég5 4004NP03  [Pég6
04456111 [Pég2 20531987 [Pag3 A9463200421  [Pag5 4008NPO1 [Pag7
4714025 |Pag2 20554756 |Pag3 A9463280401 _ [Pag9 4022NP03 [Pag8
4746733 |Pag2 20554761 |Pag4 A9463283821  |Pag5 4154NP05 _|Pag4
4763473 |Pag2 20554762 [Pag3 4157NP06 _|Pag6
6657150  |Pag2 20573311 [Pag3 [ W 4157NP09  [Pag6
8188526 |Pag2 20582214 [Pag3 0220024400 |Pag2 4159NP05 _ [Pag6
41822247 |Pag2 20582215 |Pag4 0220024600 |Pag2 4159NP07 _|Pag6
93197594 [Pag2 20726768 |pag 4 02.200.20.80.0 _ [Pag9 4159NP14 |Pag8
536905265 |Pag2 21097453 [Pag3 4420NPO1 _|Pag3

70313734  |Pag3 4757NP29 |[Pag5s

[ mAaN 70321693 [Pag4 21208939 Pag 9 4758NP21 _[Pég5

81.43601.0017 |Pag2 70321695 |Pag3 212.08.327 Pag 7 4838NPO1_|Pag5
81.43601.0018 [Pag 2 70397453 [Pag3 212.15.632 Pag 7 4882N1P05_|Pag3
81436010042 [Pég7 212.15.761 Pag 9 4885N1P01 [Pag3
81.43601.0051 [Pag 2 | DAF | 212.21.349 Pag 7 4912NP07 _[Pag4
81.43601.0060 |Pag3 388491 |pag7 212.22.442 Pég 6 4912NP13 _ |Pag4
81436016036 |Pag 3 578361 |Pag2 4913NP02 [Pag1l
81.43601.6071 [Pag3 0627584 |pag2 644N [Pag2
90831120144 |Pag2 0627584 |Pag2 15323 Pag 7 6602NPO1 _[Pag3
2.229.0003.00 [Pag7 1153934 [Pag4 016512 Pag 6 6603NP02 _[Pag3
1322713 |Pag2 6605NPO1 _[Pag3

1075365 |Pag4 1697678 |Pag4 1TCS 360-45/202/964 |Pég 6 6613NPO1 _|Pag3
1076075 [Pag3 15270-23C Pag 2 661N |Pag?2
1076076 |Pag3 15285-22 Pag 2 662N [Pag2
1076415 [Pag3 5000790692 _|Pag7 15285-24 Pag 2 673N [pag2
1076416 |Pag4 5.000.815.749 [Pag4 15C 310-16/93518 _|Pag 2 715N [Pag2
1076418 |Pag3 5000819517 _[Pag2 15C360-30 Pag 2 725NPO1__|Pag6
1080707 |[pag7 5001829866 _|Pag 2 1T19E-4 Pag 4 725NP02_ [Pag6
1080707 |Pag7 5010130925 |Pag7 17300-37 Pig 6 836MK1  |Pag4
1137888 |Pag2 5010239252 |Pag4 1TC300-30 Pag5 881MB __ [Pag5
1199893 [Pag2 5010488071 |Pag4 1TC300-30 Pag5 902MB__ [Pag4
1611776 |Pag2 5.010.600.328 |Pag4 1TC300-36 Pag 5 940MB__ |Pag5
1622111 |pag2 5.010.294.3078 [Pag4 1TC300-36 Pag5 940MB__ [Pég5
1629782 |Pag4 5.010.294.307C [Pag4 1TC360-45 Pag 5 941MB___ |Pag5
1999893 |[pag2 1T5260-32 Pag 3 941MB__ [Pag5

944N Pag2

Tanto las referencias originales como las fotografias son Unicamente para identificar el producto. En ocasiones podria no coincidir.

Poligono Industrial Malpica-Alfindén, naves 10-12. 50171 - La Puebla de Alfindén - Zaragoza 10



REFERENCIAS OEM

T noenx
1DK22E-9  |Pig8 1T17BR-8  [Pag3 1D 28 A-10 Pag 7 15623 |Pag2
4023NP03 _ [Pag7 W01 M58 9707 |Pag3 1D28A2 Pig7 16217 |Pag6
4028NP02 _ [pég7 1T19G-12 __ |Pag4 1D 28 B-10 Pag 7
4156 NPO1 _ |Pag9 1T191-14  |Pag4 1D 28B-2 Pag 7 [ smB |
4156 NP15  |Pag9 WO01M589910 |[Pég4 1D 28 C-12 Pag 7 2680662000 |Pag 2
4156NPO6 __ |Pag9 1R72-440-290 _[Pég5 1D 28 H-16 Pag 1 UJB0203-001 [P3g6
4156NP09 _ [Pag9 W01 M58 8514 |Pag5 1DF20 A5 Pag 1 UJB0305 _ [Pag7
4156NP14 _ |Pag9 1T15 MPW-9 _ [Pagé6 1 DF 20 D-1 Pag 1
4183NP24 _ |Pdg5 1T15MPW7 __ |Pag6 1DF 23B-2 Pag 1
4390NPO1 _ [Pag5 W01M586318 [Pég6 1DF 25-11 Pag 4 33189 |Pag7
4390NP02 _ [Pag5 W01M588186 |Pag6 1DF 32 Pag 6 81.43601.0115 [Pag 2

4757N1___ |Pag5 1TI5AA3_ [Pag7 1DF 32 Pag 6 81.43601.0117 [Pag 2
4757NPO1__ |Pag5 W01M586251 [Pég7 1DK21A-1 Pag 6 33.63  |[pag2
4810NPO5 _ [Pég7 1T15M-9  [Pag8 1DK21A31 _ |Pig6 4881MB __ |Pag5
6608NPO1 __ [Pég4 W01M587548 [Pég 8 1DK21B-6 Pag 6 6700NP02 _[Pég 1
6609NPO1 __ [Pég4 1T17B-11 __ |Pag9 1DK22E-8 Pag 6 836MK2 __ [Pag4

810MB Pag 7 20C-2 Pag9 1DK 22 E-9 P3g 8 W01M588660 [Pag 1
813MB Pag7 20F Pag9 1DK23K-28  [Pag9 W01M588662 [Pag 1
873N Pag5 VSP2B12RA-10 |P4g9 1DK23K-9082  [Pdg9
FD120-17 _ [Pig8 WO01M587894 |Pég9 1DK25-8747 _ [Pag9
FD12017 _ |Pag8 W01M588747 [Pég 9 1DK 28 F-4 Pag 4 785170 |Pag7
FD200-191/4P04 |Pag 9 1E21 Pag 2 B2066 _ |Pag9
SP2B12RA-10 |Pég9 1E216 Pag 2 HS251087/F [Pag9
166217/3653 _|Pag6 1E32 Pag 2
246149/3653 _|Pag6 1F21A Pag 2
4.771.170.000 |Pég 2 1KF 21-1 Pag5
4.771.441.000 _|[Pég 2 1DK21B-4 Pg 8
A9423206821 |Pag5 8015 Pag2 1F 25 Pag 2
9505 Pag5 SP2BO7R2 _ [Pag8

1R11-764 _ |Pég6 SP2B12 R-5 Pag 9
304890101  |Pag2 1R11-834  |Pag1l WO01M587679  [Pég 9

289269 [Pag9 1R11-845  [Pag1

D11B37 _ |Pag6 1R12-701CPL__|Pég8 [ sar |

D12T10 _ [Pag5 1R13-150 _ [Pag9 3228000300 [Pég7

D12B01  |Pag8 1R13-734 __ [Pag7 2.229.2603.00  [Pég7

D13B42 _ |Pag9 1R14-704 __ |pag6 3.229.0007.01 _ |Pag6

D14B40  [Pag6 1R14-705  [Pag7 3.229.0007.02 _ |[pagé6

D14U38  [Pig6 1R14-708  [Pag5 3.229.0024.00  [Pég7

509208 Pag 9 1R14-729  [Pag7 3.229.0027.00  [pég7

1R14-730 _ [Pag7 3.229.2229.00 _ [Pég8
1R14-747 __ |Pag6 3.229.2429.00  |pag8
1R1A370-285 |P4g2 1R14-753 _ [Pag1 3.229.2431.00 _ [pég7
1R1A390-295 |Pag2 1R14-782 _ [Pag7
1R1B 390-270 |[Pég2 2B8-2152  [Pag8
1R1C335-310 |Pag2 289287 |Pag9 US04028P Pag 7
1R1D 355-355 [Pdg2 US06316 Pag 6
1R72-460-305-B_|Pag 5 [ PHOENIX | US06318F Pag 6
1T66D-10.8  |Pag5 1DK 21 Pag5 US07074F Pag 6
1T66F-10.8  [Pég6 1DK 21 Pag5 US874131 Pag7
W01 M58 8969 [Pég 6 1DK21K _ [Pag5
1DK21K  [Pag5
1DKk32 _ [Pags

Tanto las referencias originales como las fotografias son Unicamente para identificar el producto. En ocasiones podrfa no coincidir.

11 Poligono Industrial Malpica-Alfindén, naves 10-12. 50171 - La Puebla de Alfindén - Zaragoza



REFERENCIAS INDEPARTS

783608C Pag 1
7840303C Pag 1
78403041C Pag 1
7840307C Pag 1

78644 Pag 2
78661 Pag 2
78673 Pag 2
78944 Pag 2
78270231C Pag 1
78270232C Pag 1
78270233C Pag 1
7827023C Pag 1

78662 Pag 2

78715 Pag 2
7848825C Pag 3
784886C Pag 3
784420C Pag 4
786416C Pag 4
786418C Pag 3
786602C Pag 3
7866032C Pag 3
786609C Pag 4
786762C Pag 3
787803C Pag 3

788361C Pag 4 2RC1802C Pag 8
788362C Pag 4 7040225CPL Pag 8
7840043CPL Pag 6
RENAULT 7840223CPL Pag 8
78491213C Pag 4 7841579CPL Pag 6
7849125C Pag 4 7841595C Pag 6
788071CPL Pag 4 786318CPL Pag 6
789910C Pag 4 78415910CPL Pag 8
78873 Pag 5 7840282CPL Pag 7
78418324C Pag 5 786251C Pag 7
7841832C Pag 6 788186CPL Pag 6
7843901C Pag 5
7847371C Pag 6 2RC2201C Pag 9
7847571C Pag 5 2RC22020C Pag 9
78475790C Pag 5 2RC2204C Pag 9
78475810C Pag 5 2RC2253C Pag 9
7848381C Pag 5

784881CPL Pag 5 7840233CPL Pag 7
78881CPL Pag 5 7848105C Pag 7
78940CPL Pag 5 78810C Pag 7
78941CPL Pag 5 788131C Pag 7
787252C Pag 6 78113150C Pag 9
787255C Pag 6 789082CPL Pag 9

Tanto las referencias originales como las fotografias son Unicamente para identificar el producto. En ocasiones podrfa no coincidir.

Poligono Industrial Malpica-Alfindén, naves 10-12. 50171 - La Puebla de Alfindén - Zaragoza



